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The Rabbanan taught; there are three Ovois — MAR WL 3320 N

OVERVIEW

The X713 began by inferring from the expression of the 71wn which states 7v2IX
P11 MaX, that there are M771N; and was inquiring whether these m771n are  R¥1°D
172 (as by naw noXYn), or 172 R¥1PD IRY (as in ARMIW °1°7). XD 27 (seemingly) resolved
this query and stated that 372 XX¥1°2 XD 3771 @™ 372 K¥1D 172 w°. Why does the R
inset here a Xn»72 which seems to depart from the current discussion?

$NYAN NOO 39 YINDT 172 KEY®D INY 119190 WY "1t N®»9aa HIDaN
The X723 interrupted (its explanation of the miwn) with this 8n>92; in order to
explain what 855 29 was referring to, when he stated that concerning the nax

1P°13, their MT91n are not similar to the max. The Xn»93 is not a departure from the
discussion, but rather it is cited to help us resolve what X955 17 meant.

SUMMARY
The Xn>72 of 'Max '3 is cited to clarify the statement of X955 27.

THINKING IT OVER
Why did mpo1n have a difficulty with the (insertion of this) Xn»92; the X713 (later)®
does discuss the statement of 899 27 based on this Xn»92?!

! This xn™92 cannot be referencing the MW of our 73wn; for PXMWw maintains (later X,7) that M in the 7awn refers
(only) to ?31. This &n>2 (at least according to ?X1mw) is referencing the word MW in the 7710, Therefore nooin finds
it necessary to explain why we are interrupting the explanation of (nax and [}72 X¥1> 2] M7710 of) the mwn, with
this &n»"2.

% On this v and on X,3.
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